O 7’34

RD7 v 7 7 LI,

T4. BERICBT BN

aVDERA DML TRUIEEKE T 7 7 %4F
KT ADIERALI-bDTHSB, Hld1, 2, 3,
4, 5 TR¥EEE, HI6 TS T 7 EEKL TG
3B, 7077 IV IEEBIFIBASICERWV,

Bl

10
20
=0
40

=0

&0
70
80
Q0
100

BEELTS

REM X% J42 3 T4 XX
FRINT/F " 34 7 TR
FRINT /F

FRINT/F TAR(8) :"AET ~+ 70 naz"
FPRINT/F TAEB(7) 3" 77 N4z
AEF/NG7D ARTF/T 00

INFUT NaM.J

S=0

FOR I=1 TO N

IF RND(1)<0.5 THEN 110

S=5+1

110 NEXT I

120

130
140

FRINT/F TAE(8)iN; TAR(20) ;S5
TAB(Z2) iS/N

N=N+J

IF N<=M THEN 70

150 END

B 2

10
20
30
40

S0

&0
70
80
Q0
100
110
120
130
140
150
160
170
180
190
200
210
220

2320

BAYOD 2 XROFHOM

REM XX2t* R0/ 257307 F 1220/ XX
PRINT/P" 2€" 22/ 29" 3%/ ¥ 127795/, ™
FRINT/P" S=1+1/2"2+...+1/N"2"
PRINT/P
FRINT/F "

U A

INFUT N

S1=0
FOR L=1 TO N
S1=61+1/L"2
NEXT L
PRINT/P
FRINT/F N:iTAE(8);S1
INFUT N.M

IF M=0 THEN END
S=0

FOR I=1 TO M
S=8+1/1"2

NEXT I

SA=5-51

FRINT/F TAR(Z21):;5A
PRINT/F MiTAER(8):iS
S1=5

GOTO 130

"3TAB(13):" 8" s TAR(26)

B3 HHHAECEIZABEROHE

10

20

S0

40

=0

REM XXI219W) » nW97kx%

FRINT/F " JFLuF€R2E? Z3h 121990
VAN £ S0

FRINT/F

FRINT/F " N'3TAB(S) ;""" 3 TAR(17)
SUTATU S TABCZO) st Sum

B=4

—C1Lk—

&0
70
80
0

INPUT N

IF N=0 THEN END
FOR I=1 TO (N-1)
C=B/2"(I+1)

100 A=B/SER(1+C*C)

110 B=2XAXE/(A+R)

120 NEXT I

130 C=B/2™(N+1)

140 A=B/SQR(1+C%C)

150 M=2"(N+1)

160 PRINT/F

170 PRINT/F NiTAB(4)3M; TAB(14) A3

TAB(27);E

180 GOTO 50

Bla XAIKBECLIEROHE

10 REM XX77" L%19t%k%

20 PRINT/F " 77" 2%190%"

30 FRINT/F

40 FRINT/F "Y=XXX h #37tu X=1, X=5,
X" 2 FonawLs saure

S0 FRINT/F

60 FRINT/F "7 Lm0 s TAR(12) 3" 95 A0 %"
i TAB(29) 3" VhAuTs"

70 INFUT N

80 IF N=0 THEN END

90 §=0

100 T=0

110 H=4/N

120 FOR K=1 TO N

130

S=8+HX(1+H¥(k-1)) "2

140 T=T+HX( 1+HXE) 2

150
160
170

NEXT K
FRINT/F N3TAEB(1O) 3S; TAR(Z27)5T
GOTO 70

B 5 _Si?"_xon{is

10 REM XXSIN(X) /X /7F4%X%

20 PRINT/P "SIN(X) /X 7/ 724"

30 PRINT/P

40 PRINT/P " X"3iTAR(12)3"SIN(X)"
s TAB(28) " SINCX) /X"

SO PRINT/P

&0 INPUT R

70 FOR X=R TO R¥0.1 STEFP —-0.1%R

80 E=SIN(X) :F=E/X

0 FRINT/FP XiTAR()iESiTAR(Z46);5F

100 PRINT/F

110 NEXT X

120 END

Bl6 HIREIOEKRODT ST

10
20
Z0
40
S0
&HO
70
80
0

REM XAz k™ 07" 57%K

FRINT/F TAR(S) §" RLuLhk™s 2 J% 2ty
GRAFH I1,C,01

LINE 0,100,319, 100

LINE S0,0, 50,199

INFUT A.U.E.V

FOR X=-2.9% TO 13.5 STEF 0.1
F=—AXSIN(O.6XUXX)

SET XX20+50 LFX40+100

100 G=-BXCOS(0.&%VXX)

110 SET X¥20+50

» GX40+100

120 NEXT X
130 FOR X=-2.% TO 13.5 STEF 0.01
140 Y=—AXSIN(O.&6XUXX) -BXCOS(0.&¥VXX)

150 SET X¥20+50

» YXA0+100

160 NEXT X
170 END




